
à. KQ> nUu, S´> m°goam ¶m dZñnVr {H$ Q> H$ m§Mo ^jU H$ ê$ Z ñdV…Mr --------- JaO ^mJdVmV.

’$ m°ñ’$ ag hm¶S´> moOZ

Zm¶Q´> moOZ Am°p³gOZ

à. eoOmarb AmH¥$ VrVrb ’w$ bmMm H$ moUVm ^mJ ñÌrHo$ gamMm ~Zbobm AgVmo?

à. VbmdmÀ¶m nmÊ¶m‘Ü¶o nmohÊ¶mnojm g‘wÐmV nmohUo gmono H$ m OmVo?

VbmdmVrb nmÊ¶mMm n¥ð>^mJ H$ ‘r AgVmo.

g‘wÐmVrb nmÊ¶mMm n¥ð>^mJ A{YH$ AgVmo.

g‘wÐmVrb nmÊ¶mMr KZVm OmñV AgVo.

VbmdmÀ¶m nmÊ¶mMr KZVm OmñV AgVo.

à. H$ moUË¶m Vmn‘mZmbm nmÊ¶mMr KZVm gdm©V OmñV AgVo?

1

1. 2.

3. 4.

2

1. 2.

3. 4.

3

1.

2.

3.

4.

4

1. 2. 3. 4.

An insectivorus plants Pitcher, Drosera full fill their need of ------------ by consuming insects.

[Phosphorous ] [Hydrogen ]

[Nitrogen ] [Oxygen ]

From the given diagram which of the part is made from Gynoecium.

A B

C D

Why swimming becomes easier in sea water than lake water?

[Surface of lake water is less.]

[Surface of sea water is more.]

[Density of sea water is greater.]

[Density of lake water is greater.]

The density of water is maximum at ------------ temperature.

0 c 4 c -4 c 1 c
0 0 0 0

OZgodm gm‘m{OH$  e¡j{UH$  à{Vð> mZ Ah‘XZJa

B¶ËVm - dr

narjm H«$ . -

7 {XZm§H$  -
JwU -
doi - Vmg

17/3/2019

100

1

{dÚmÏ¶mªZm gyMZm …-

XmoZ JwU

{ZJo{Q> ìh JwU nÜXVr bmJy Zmhr.

1.

2.

3.

4.

5.

6.

1.

1. 2. 3. 4.

1. 2. 3. 4.

7.

8.

CËVao doJù¶m CËVan{ÌHo$ da {bhmd¶mMr AmhoV.
gXa àíZn{ÌHo$ V àíZ A{Zdm¶© AmhoV. àË¶oH$ AMyH$ CËVamg Amho.
àË¶oH$ àíZmbm Mma n¶m©¶r CËVao gwM{dbr AmhoV. Ë¶mn¡H$ s ¶mo½¶ Vmo CËVamMm H«$ ‘m§H$ CËVan{ÌHo$ V N> m¶m§{H$ V H$ amdm.
Ë¶mgmR> r H$ mù¶m qH$ dm {Zù¶m emB©Mm ~m°bnoZ dmnamdm.
EH$ Xm Z‘yX Ho$ bobo CËVa ImoS> Vm ¶oUma Zmhr, Vgo Ho$ ë¶mg Vnmgbo OmUma Zmhr.
EH$ mM àíZmMo EH$ mnojm OmñV Jmob N> m¶m§{H$ V Ho$ ë¶mg Vmo àíZ Vnmgbm OmUma Zmhr.
CËVa {b{hÊ¶mMr ¶mo½¶ nÜXVr CXm.
àíZ ---------- earamVrb gdm©V ‘moR> r J«§Wr Amho.

ñdmXþqnS> Wm¶am°p³gZ ¶H¥$ V bmbmoËnmXH$ J«§Wr
CËVa …
KmB©‘wio MwH$ m hmoUma ZmhrV ¶mMr XjVm ¿¶mdr. doioMo {Z¶moOZ H$ amdo.
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à. àH$ me g§íbofU {H«$ ¶m dZñnVrÀ¶m ------ ¶m ^mJmV KS>Vo.

{hado nmZ {hado ImoS>

’y$ b n¶m©¶ d

à. ------ ho ghOrdr nmofUmMo CXmhaU hmo¶.

XJS> ’y$ b A‘adob

~m§S> Jyi darb gd©

à. ------ ¶m àmÊ¶m§Zm ñdÀN>VmH$ ‘u Ago åhUVmV.

Vag {JYmS> o

H$ mdio darbn¡H$ s gd©

à. MwH$ sMr OmoS> r AmoiIm.

Z¡g{J©H$ n[aajH$ - ‘rR>

amgm¶{ZH$ n[aajH$ -pìhZoJa

hdm~§X {neì¶m‘Ü¶o-Zm¶Q´> moOZ dm¶y

nmíMarH$ aU-XþY Vmn‘mZmbm {‘{ZQ> o Vmn{dUo

à. Vw‘Mo dOZ ------ ¶m {R> H$ mUr gdm©{YH$ Agob.

Yw«dmda n¥ÏdrÀ¶m n¥ð>^mJmda

{dfwdd¥ËVmda darb gd©$

à. nmUr åhUOo ------- hmo¶.

AãO brQ> a bj brQ> a

hOma brQ> a brQ> a

à. Vmaoda ~gbobm njr CSy> Z EH$ {JaH$ s KoD$ Z ~gboë¶m OmJr ¶oVmo Ë¶mZo EH$ m {JaH$ sV H$ mnbobo EHy$ U A§Va ‘rQ> a

Agë¶mg Ë¶mMo {dñWmnZ {H$ Vr?

‘rQ> a ‘rQ> a

‘rQ> a ¶mn¡H$ s Zmhr

à. XþYmMo Xhr hmoUo hm ------- ~Xb hmo¶.

^m¡{VH$ amgm¶{ZH$

n[adV©Zr¶ gd© n¶m©¶ ~amo~a

à. ------ bm COm© {Z{‘©VrMo H|$ Ð åhUVmV.

V§VwH$ {UH$ m h[aVbdH$

JmoëJr ~m°S> r b¶H$ m[aH$ m

5

1. 2.

3. 4.

6

1. 2.

3. 4.

7

1. 2.

3. 4.

8

1.

2.

3.

4.

9

1. 2.

3. 4.

10

1. 2.

3. 4.

11

1. 2.

3. - 4.

12

1. 2.

3. 4.

13

1. 2.

3. 4.

Process of photosynthesis occures in ------------ part of the plant.

[Green leaf] [Green stem]

[Flower] 1 2 [Option 1 & 2]

------------ is an example of symbiotic association.

[Lichen] [Cuscuta]

[Loranthus] [All of the above]

------------- animal is called Scavengers.

[Hyena] [Vulture]

[Crow] [All of the above]

Identify incorrect pair.

[Natural preservative - Salt]

[Chemical preservative - Vinegar]

[Airtight bags - Nitrogen gas]

40 c 15 [pasturisation - Heating milk at 40 c for 15 min]

Your weight is maximum at ------------ place.

[Pole] [Earth surface]

[Equator] [All of the above]

1 TMC

1 TMC water means -------------

28.317 [28.317 Billion litres] 28.317 [28.317 Lakh litres]

28.317 [28.317 Thousands litres] 28.317 [28.317 Litres]

90

A bird sitting on a wire starts flying in circles comes back to its original place by covering the total
distance of 90 m what would be its displacement?

90 [90 m] 0 [0 m]

90 [-90 m] [None of the above]

Formation of curd from milk is ----------- change.

[Physical] [Chemical]

[Reversibe] [All are correct]

---------- are known as the power houses of cell.

[mitochondria] [chloroplast]

[golgi apparatus] [lysosome]

0 0

(2)
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à. Imbrbn¡H$ s H$ moUVm ~Xb ^m¡{VH$ ~Xb Amho?

A§S> r CH$ S>Uo nmUr CH$ iUo

bmH$ S> mMo ÁdbZ ‘°½Zo{eA‘Mr {’$ V OmiUo

à. V{S>VajH$ hm Vm§ã¶mÀ¶m nQ²> Q> rnmgyZ H$ m V¶ma H$ aVmV?

Vm§~o YmVy hm {dOoMm CËV‘ gydmhH$ Amho.

Vm§~o YmVy hm {dOoMm Xþdm©hH$ Amho.

Vm§~o YmVy hm ghO AmT>iVmo.

Vm§~o hm CîUVoMm gwdmhH$ Amho.

à. CîUVoMo àmaU g§H«$ ‘U------ nXmWm©VyZ hmoVo.

ñWm¶y Ðd

dm¶y ¶mn¡H$ s Zmhr

à. XþîH$ mimMr Vrd«Vm H$ ‘r H$ aÊ¶mgmR> r AmnU H$ m¶ H$ ê$ eH$ mb?

‘moR> çm à‘mUmV d¥jbmJdS> H$ aUo.

d¥jVmoS> Wm§~{dUo

nmÊ¶mMm {Z¶moOZnyd©H$ dmna d nmÊ¶mMm nyZdm©na H$ aUo

darb gd©

à. MyH$ sMr OmoS> r AmoiIm

OR> a - bm¶noO

{nËV - {nËVag

ñdmXÿqnS> - ñdmXþag

bhmZ AmVS> o - Am§Ìag

à. bmiJ«§Wr H$ moR> o AmT>iVo?

H$ mZ{ebmOdi ZmH$ mOdi

KemOdi n¶m©¶ d

à. H$ moUË¶m nX²YVrZo XþYmnmgyZ bmoUr doJio H$ aVm ¶oB©b?

a§OH$ Ðì¶ n¥W³H$ aU nX²YV CÜd©nmVZ nX²YV

AnH|$ Ðr nX²YV {dbJrH$ aU nX²YV

à. KaJwVr J°g {gb|S> a ‘Yrb dm¶y JiVr g‘OÊ¶mH$ arVm Ë¶m dm¶yV ------ ho Vrd« d {d{eï> dmgmMo agm¶Z

Aënà‘mUmV {‘gibobo AgVo.

{‘WmB©b Am¶gmogm¶ZoQ> BWoZ

{‘WoZ B{Wb ‘aH°$ ßQ> Z

14

1. 2.

3. 4.

15

1.

2.

3.

4.

16

1. 2.

3. 4.

17

1.

2.

3.

4.

18

1.

2.

3.

4.

19

1. 2.

3. 4.

20

1. 2.

3. 4.

21

1. 2.

3. 4.

Which of the following is an example of a physical change?

[Boiling of an egg] [Boiling of water]

[Burning of wood] [Burning of a magnesium ribbon]

Why is lightning conductor made of copper?

[copper is good conductor of electricity]

[copper is a bad conductor of electricity]

[copper is easily available]

[copper is good conductor of heat]

Radition of heat takes place through ----------- substance.

[solid] [liquid]

[Air] [non of these]

Whatcanwedotoreduce theseverityofadrought?

[Large scale plantation of trees. ]

[ Prevention of deforestration]

[Planned usage of water and reuse of water ]

[All of these]

Identify missmatch pair.

[Stomach - Lipase]

[Liver - Bile juice ]

[Pancrease - Pancreatic juice]

[Small intestine - Intestinal juice]

Where are salivary glands situated?

[near the ears] [near the nose]

[near the pharynx] 1 3 [option 1 & 3]

Which method is used to separate butter from milk?

[Chromatography] [Distillation method]

[Centrifugation] [Separation method]

(LPG)

--- is added in a small amount to detect any leakage of LPG gas which has a strong characteristic odour.

[Methyn isocyanate] [Ethane]

[Methane] [ethyl mercaptan]

(3)
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à. gy¶©J«hU ho CKS>çm S> moù¶m§Zr H$ Yrhr ~Ky Z¶o Ë¶mgmR> r {d{eï> àH$ maMo H$ mio Mí‘o dmnamdo H$ maU-

M§ÐmMr gmdbr n¥Ïdrda nS>Vo.

n¥ÏdrMr N> m¶m M§Ðmda nS>Vo.

gy¶©J«hUmÀ¶m doir hm{ZH$ maH$ A{VZrb {H$ aU n¥Ïdrda nmohMVmV.

darb gd©

à. Qw> WnoñQ> ‘Yrb ------ Mm Cn¶moJ X§Vj¶ amoIÊ¶mH$ arVm hmoVmo.

âbmoamBS> H°$ pëeA‘

hm¶S´> moOZ H°$ pëeA‘ H$ m~m}ZoQ>

à. ho amgm¶{ZH$ gyÌ Imbrbn¡H$ s H$ emMo Amho?

gmIa ‘rR> YwÊ¶mMm gmoS> m ImÊ¶mMm gmoS> m

à. Imbrbn¡H$ s {‘lUmMo CXmhaU H$ moUVo?

‘rR> gmIa ImÊ¶mMm gmoS> m H«$ m±H«$ sQ>

à. V§~mIy AWdm nmZ ‘gmbm ¶m gd¶r ------- amoJmg H$ maUr^yV R> aVmV.

j¶ Vm|S> mMm H°$ Ýga ñH$ ìhu a³Vj¶

à. Imbrbn¡H$ s H$ moUVm AYmVy Ðd pñWVrV gd©gm‘mÝ¶ Vmn‘mZmV AmT>iVmo?

~«mo‘rZ nmam Am¶moS> rZ H$ m~©Z

à. Z¡g{J©H$ dm¶y§‘Ü¶o ------- hm ‘w»¶ KQ> H$ AgVmo.

àmonoZ ã¶yQ> oZ {‘WoZ BWoZ

à. AdV©gmaUrMr n{hbr ‘m§S>Ur H$ moUr Ho$ br ?

S> m°. gr.ìhr. am‘Z S> m{d©Z

Wm°‘g E{S>gZ ‘|S> o{bìh

à. ^maVr¶ ‘mZdr AdH$ me {‘eZ ¶mg ------- åhUVmV.

JJZ¶mZ Zm{dH$ Mm§Ð¶mZ ‘m°‘

{Xboë¶m g§»¶m ‘m{bHo$ V àíZ {MÝhmÀ¶m OmJr H$ moUVr g§»¶m ¶oB©b?

à.

à.

22

1.

2.

3.

4.

23

1. 2.

3. 4.

24

1. 2. 3. 4.

25

1. 2. 3. 4.

26

1. 2. 3. 4.

27

1. 2. 3. 4.

28

1. 2. 3. 4.

29

1. 2.

3. 4.

30

1. 2. 3. 4.

31

1. 2. 3. 4.

32

1. 2. 3. 4.

Asolar eclipse should never be watched with the naked eye.Aspecial type of goggles
should be used for this purpose because ---

[Ashadow of the moon iscasted on the earth]

[Ashadow of the earth is casted on the moon]

[During a solareclipse,ultra violet rayswhich are harmful to us reach the earth] [All of these]

-------- in the toothpaste helps to prevent tooth decay.

[Fouride] [Calcium]

[Hydrogen] [Calcium Carbonate]

NaHCO

Which of the following compound has NaHCO moleculas formula?

[sugar] [salt] [washing soda] [baking soda]

Which of the following is an example of a mixture?

[salt] [sugar] [baking soda] [concrete]

Chewing of Tobacco/Pan masala causes --------- disease.

[T.B.] [Oral Cancer] [Scurvy] [Anaemia]

Which of the following non-metals occurs in liquid state at room temperature?

[Bromine] [Mercury] [Iodine] [Carbon]

Natural gas mainly contains

[Propane] [Butane] [Methane] [Ethane]

Who first proposed periodic table?

[Dr. C.V. Raman] [Darwin]

[Thomas Edison] [Mendeleev]

Indian human space flight mission is known as -----------

[Gaganyaan] [Navik] [Chandrayan] [MOM]

3

3

For Q. 31 & 32

In the given number series which number will replace the question mark?

5 , 12 , 26 , 54 , 110 , ?

180 222 200 175

33 , 28 , 24 , ? , 19 , 18

21 22 20 23

(4)

B. - dr7



For Q. 33 & 34

Imbrb ‘m{bHo$ V àíZ{MÝhmÀ¶m OmJr H$ m¶ ¶oB©b?

à.

à.

à. {Xboë¶m eãXmMr nmÊ¶mVrb à{V‘m AmoiIm.

à. Oa AmO a{ddma Agob Va {Xdgm§Zr H$ moUVm dma ¶oB©b?

a{ddma ewH«$ dma e{Zdma gmo‘dma

à. EH$ KS>çmi Aem pñWVrV R> odbo Amho H$ s Xþnmar dmOVm Ë¶mMm {‘{ZQ> H$ mQ> m B©emÝ¶ {Xem XmI{dVmo. Va Xþnmar

dmOVm Ë¶m KS>çmimMm Vmg H$ mQ> m H$ moUVr {Xem Xe©{dVmo?

nyd© X{jU CËVa npíM‘

à. ‘¶wa Am{U ‘Ywa hm°H$ s d ìhm°br~m°b ‘Ü¶o Mm§Jbo AmhoV. g{MZ d ‘¶wa hm°H$ s Am{U ~og~m°b ‘Ü¶o Mm§Jbo AmhoV. hf© Am{U

‘Ywa hm°br~m°b d {H«$ Ho$ Q> ‘Ü¶o Mm§Jbo AmhoV. g{MZ, hf© d g§ñH$ ma ~og~m°b d ’w$ Q> ~m°b ‘Ü¶o Mm§Jbo AmhoV Va ~og~m°b,

{H«$ Ho$ Q> , ìhm°br~m°b Am{U ’w$ Q> ~m°b ¶m gdmª‘Ü¶o Mm§Jbm H$ moU?

g{MZ ‘Ywa hf© g§ñH$ ma

à. Oa hm nojm C§M Amho, hm nojm C§M Amho, hm nojm C§M Amho, hm nojm C§M Amho, Va gdm©V R> |JUm H$ moU?

à. Oa Mm AW© ho Mo dS> rb AmhoV, Mm AW© hr Mr ~hrU Amho. Mm AW© hr Mr ‘wbJr Amho,

Am{U Mm AW© hm Mm ^mD$ Amho, Va d hr ^md§S> o AmhoV ho Xe©{dUmao ZmVogmIir {ZdS> m?

à. EH$ m gm§Ho$ {VH$ ^mfoV hm eãX Agm {b{hVmV Va ¶mM gm§Ho$ {VH$ ^mfoV hm eãX H$ gm {bhmb?

à. Imbrb AmH¥$ VrVrb {ÌH$ moUm§Mr g§»¶m {H$ Vr?

In the series given below what will come in the place of question mark?

AE , CG , EI , GK , ?

IM MI HM IL

ADG , GJM , MPS , ?

SVW SUW SWY SVY

Choose the correct water image of given word.

If today is Sunday after 61 days it will be --------

[sunday] [friday] [saturday] [monday]

A clock is so placed at 12 noon its minute hand points towards North-East. which direction will its hour
hand point at 1.30 pm?

[East] [South] [North] [West]

Mayur and Madhur are good in hockey and volleyball. Sachin and Mayur are good in hockey and
baseball, Harsh and Madhur are good in volleyball and cricket. Sachin, Harsh and Sanskar are good in
baseball and football. Then who is good in all baseball, cricket, volleyball and football?

[Sachin] [Madhur] [Harsh] [Sanskar]

If A is taller than B, B is taller than B, D is taller than E, E is taller than B. Who is the shortest among
them?

A B C D

If A B means A is the father of B; A B means A is the sister of B; A B means A is the daughter of B;

and A @ B means A is the brother of B, then select the relation chain that indicates R, T and M are
siblings?

R T M R T @ M R T M R @ T M

POET ETOP RAMESH

In a certain code langauge POET is written as ETOP in the same way RAMESH will be written as?

ESHRAM HSEMAR ESHMAR MARHSE

How many triangles are there in the figure below?

10 20

30 18

33

1. 2. 3. 4.

34

1. 2. 3. 4.

35

RIVER

1. 2. 3. 4.

36 61

1. 2. 3. 4.

37 12 1.30

1. 2. 3. 4.

38

1. 2. 3. 4.

39 A B B C D E E B

1. 2. 3. 4.

40 A B A B A B A B A B A B

A@ B A B R, T M

1. 2. 3. 4.

41

1. 2. 3. 4.

42

1. 2.

3. 4.

$ #

$ #

$ # # # $

P

P

P

(5)

RIVER
RIVER

REIVRRIVER
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à. Xþnmar dmOyZ {‘{ZQ> m§Zr KS>çmimVrb VmgH$ mQ> m d {‘{ZQ> H$ mQ> m ¶mV {H$ Vr A§emMm H$ moZ Agob?

àíZ{MÝhmÀ¶m OmJr ¶mo½¶ A§H$ ^am.

à.

à.

à.

à. Oa hdobm {hadm, {haì¶mbm {Zim, {Ziçmbm nm§T> am åhQ>bo, nm§T> è¶mbm {ndim, {ndiçmbm nmUr Am{U nmÊ¶mbm Jwbm~r

åhQ>bo Va AmH$ memMm a§J H$ moUVm?

{Zim {ndim Jwbm~r nm§T> am

Imbr {Xboë¶m AmH¥$ VrV EH$ m dJm©V {MÌH$ boV nma§JV {dXçmWu dVw©imZo, Jm¶Z ¶oUmao {dXçmWu {ÌH$ moUmZo d V~bmdmXZ

H$ aUmao {dXçmWu Mm¡H$ moZmZo XmI{dbo AmhoV, Va nwT> rb àíZm§Mr CËVao Xçm.

à. {MÌH$ bm ¶oV Zgbobo {dXçmWu {H$ Vr?

à. {MÌH$ bm d Jm¶Z ¶oVo nU V~bm dmOdV ZmhrV Ago {dXçmWu {H$ Vr?

à. H$ moUË¶mhr XmoZM H$ bm ¶oVmV Ago {dXçmWu {H$ Vr?

43 2 30

1. 2. 3. 4.

44 1. 2.

3. 4.

45 1. 2.

3. 4.

46

1. 2. 3. 4.

47

1. 2. 3. 4.

48

1. 2. 3. 4.

49

1. 2. 3. 4.

50

1. 2. 3. 4.

What is the angle bletween the hour hand and minute hand of clock 2.30 pm. ?

90 75 105 80

Find the figure which can be put up at the point of question mark?

80 114

36 40

60 55

63 64

18 36 0 1

If air is called green, green is called blue, blue is called white, white is called yellow, yellow is called
water and water is called pink, then what the colour of sky?

[Blue] [Yellow] [Pink] [White]

In the following figure, students from a who like Drawing, Music and Tabla are shown respectively by
circle, triangle and square. Observe the figure and answer the following questions.

How many students do not like Drawing?

37 57 61 52

How many students like Drawing and Music but do not like Tabla?

17 12 40 55

How many students like only two arts?

45 33 30 27

0 0 0 0

For Q. 44 to 46

For Q. 48 to 50

50 1 50

*******
(Amnë¶m àíZn{ÌHo$ V àíZ Agë¶mZo ( ) CËVa n{ÌHo$ V àíZ H«$ ‘m§H$ Vo n¶ªVM CËVao Zm|XdmdrV.)OMR Answersheet

.drcvramanexam.com(¶m àíZn{ÌHo$ Mr CËVa gyMr 4/5 {XdgmV ¶m do~gmB©Q> da CnbãY hmoB©b)(Answer Key) www

(6)

133

52

91

43

9

?2

8 10 12
?7539

5 5 8

?
803

8
15
24

35
48

15
5
1216 24

18

21 V~bm
[Tabla]

{MÌH$ bm
[Drawing]

Jm¶Z
[Music]
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